Miskolc Mathematical Notes

# ON QUATERNION-GAUSSIAN FIBONACCI POLYNOMIALS 

TÜLAY YAĞMUR

Received 03 March, 2021


#### Abstract

In this paper, we define Gaussian Fibonacci quaternion polynomials and Gaussian Lucas quaternion polynomials. We also investigate some properties of these quaternion polynomials.


2010 Mathematics Subject Classification: 11B37; 11B83; 11R52; 20G20
Keywords: Gaussian numbers, Fibonacci numbers, Gaussian Fibonacci polynomials, quaternions

## 1. Introduction

Gaussian number, investigated by Gauss in 1832, is a complex number with integer coefficients. Horadam introduced the concept of complex Fibonacci numbers (Gaussian Fibonacci numbers) in 1963. Then, Gaussian Fibonacci numbers and Gaussian Lucas numbers are studied by many authors. Some example of these studies can be found in $[1,7,8,10,12]$, among others.

The $n$th Gaussian Fibonacci number is defined by the relation

$$
G F_{n}=G F_{n-1}+G F_{n-2}, \quad n \geq 2
$$

with initial conditions $G F_{0}=i$ and $G F_{1}=1$.
It is easy to see that $G F_{n}=F_{n}+i F_{n-1}$, where $F_{n}$ is the $n$th Fibonacci number defined recursively by $F_{n}=F_{n-1}+F_{n-2}$ with $F_{0}=0, F_{1}=1$.

Similarly, the $n$th Gaussian Lucas number is defined by the relation

$$
G L_{n}=G L_{n-1}+G L_{n-2}, \quad n \geq 2
$$

with initial conditions $G L_{0}=2-i$ and $G L_{1}=1+2 i$.
It is clear that $G L_{n}=L_{n}+i L_{n-1}$, where $L_{n}$ is the $n$th Lucas number defined recursively by $L_{n}=L_{n-1}+L_{n-2}$ with $L_{0}=2, L_{1}=1$.

The Fibonacci polynomials studied by Catalan in 1883 are defined by the relation

$$
F_{n}(x)=x F_{n-1}(x)+F_{n-2}(x), \quad n \geq 2
$$

with initial conditions $F_{0}(x)=0$ and $F_{1}(x)=1$.
The Lucas polynomials studied by Bicknell in 1970 are defined by the relation

$$
L_{n}(x)=x L_{n-1}(x)+L_{n-2}(x), \quad n \geq 2
$$

with initial conditions $L_{0}(x)=2$ and $L_{1}(x)=x$.
In [11], Özkan and Taştan studied Gaussian Fibonacci polynomials, Gaussian Lucas polynomials and also their applications. They gave the definitions of the Gaussian Fibonacci and Lucas polynomials, and Binet's formulas for these polynomials as follows:

The Gaussian Fibonacci polynomials are defined by the relation

$$
\begin{equation*}
G F_{n}(x)=x G F_{n-1}(x)+G F_{n-2}(x), \quad n \geq 2 \tag{1.1}
\end{equation*}
$$

with initial conditions $G F_{0}(x)=i$ and $G F_{1}(x)=1$.
Moreover, it is easy to see that $G F_{n}(x)=F_{n}(x)+i F_{n-1}(x)$. Setting $x=1$ in the eq. (1.1), the Gaussian Fibonacci number $G F_{n}$ can be obtained.

The Binet's formulas for the Gaussian Fibonacci polynomials are given by

$$
\begin{equation*}
G F_{n}(x)=\frac{\alpha^{n-1}(x)(\alpha(x)+i)-\beta^{n-1}(x)(\beta(x)+i)}{\alpha(x)-\beta(x)} \tag{1.2}
\end{equation*}
$$

where $\alpha(x)=\frac{x+\sqrt{x^{2}+4}}{2}$ and $\beta(x)=\frac{x-\sqrt{x^{2}+4}}{2}$ are the roots of the equation $t^{2}-x t-1=$ 0 .

The Gaussian Lucas polynomials are defined by the relation

$$
\begin{equation*}
G L_{n}(x)=x G L_{n-1}(x)+G L_{n-2}(x), \quad n \geq 2 \tag{1.3}
\end{equation*}
$$

with initial conditions $G L_{0}(x)=2-i x$ and $G L_{1}(x)=x+2 i$.
Furthermore, it is clear that $G L_{n}(x)=L_{n}(x)+i L_{n-1}(x)$. Setting $x=1$ in the eq. (1.3), the Gaussian Lucas number $G L_{n}$ can be obtained.

The Binet's formulas for the Gaussian Lucas polynomials are given by

$$
\begin{equation*}
G L_{n}(x)=\alpha^{n-1}(x)(\alpha(x)+i)+\beta^{n-1}(x)(\beta(x)+i) \tag{1.4}
\end{equation*}
$$

where $\alpha(x)$ and $\beta(x)$ are same as defined in eq. (1.2).
Quaternions, four-dimensional hyper-complex numbers, introduced by Sir William Rowan Hamilton in 1843. These numbers have found widespread application in quantum physics, computer graphics, robotics and signal processing.

A quaternion $q$ is of the form

$$
q=q_{0}+q_{1} i+q_{2} j+q_{3} k=\left(q_{0}, q_{1}, q_{2}, q_{3}\right)
$$

where $q_{0}, q_{1}, q_{2}, q_{3}$ are real numbers, and $i, j, k$ are quaternionic units which satisfy the equalities

$$
\begin{equation*}
i^{2}=j^{2}=k^{2}=i j k=-1, i j=k=-j i, \quad j k=i=-k j, \quad k i=j=-i k \tag{1.5}
\end{equation*}
$$

The set of all quaternions denoted by $\mathbb{H}$ is a non-commutative associative algebra over the real numbers. For a survey on quaternions, we refer the reader to [6,15].

In [8], Horadam defined the Fibonacci and Lucas quaternions as

$$
F Q_{n}=F_{n}+F_{n+1} i+F_{n+2} j+F_{n+3} k
$$

and

$$
L Q_{n}=L_{n}+L_{n+1} i+L_{n+2} j+L_{n+3} k
$$

respectively, where $F_{n}$ is the $n$th Fibonacci number, $L_{n}$ is the $n$th Lucas number, and $i, j, k$ are quaternionic units which satisfy the rules (1.5).

There have been many studies in literature on Fibonacci and Lucas quaternions, see for example [2,3,9,13,14], among others.

The main objective of this paper is to define and study Gaussian Fibonacci and Lucas quaternion polynomials. We shall give recurrence relations, Binet's formulas, generating functions and summation formulas involving these quaternion polynomials.

## 2. The Gaussian Fibonacci quaternion polynomials

In this section, we first give the definitions of Gaussian Fibonacci quaternion polynomials and Gaussian Lucas quaternion polynomials. We then obtain some results for these quaternion polynomials.

For $n \geq 0$, Gaussian Fibonacci quaternion polynomials $\left\{G F Q_{n}(x)\right\}_{n=0}^{\infty}$ and Gaussian Lucas quaternion polynomials $\left\{G L Q_{n}(x)\right\}_{n=0}^{\infty}$ are defined by

$$
\begin{equation*}
G F Q_{n}(x)=\left(G F_{n}(x), G F_{n+1}(x), G F_{n+2}(x), G F_{n+3}(x)\right) \tag{2.1}
\end{equation*}
$$

and

$$
\begin{equation*}
G L Q_{n}(x)=\left(G L_{n}(x), G L_{n+1}(x), G L_{n+2}(x), G L_{n+3}(x)\right), \tag{2.2}
\end{equation*}
$$

respectively, where $G F_{n}(x)$ is the $n$th Gaussian Fibonacci polynomial, $G L_{n}(x)$ is the $n$th Gaussian Lucas polynomial.

It is easy to see that the $n$th Gaussian Fibonacci quaternion polynomial is defined recursively by

$$
\begin{equation*}
G F Q_{n}(x)=x G F Q_{n-1}(x)+G F Q_{n-2}(x), \quad n \geq 2 \tag{2.3}
\end{equation*}
$$

with initial conditions

$$
\begin{equation*}
G F Q_{0}(x)=\left(i, 1, x+i, x^{2}+1+i\right)=2 i+(x-1) j+\left(x^{2}+2\right) k \tag{2.4}
\end{equation*}
$$

and

$$
\begin{align*}
G F Q_{1}(x) & =\left(1, x+i, x^{2}+1+i, x^{3}+2 x+i(x+1)\right)  \tag{2.5}\\
& =x i+\left(x^{2}-x\right) j+\left(x^{3}+2 x+1\right) k
\end{align*}
$$

Similarly, the $n$th Gaussian Lucas quaternion polynomial is defined recursively by

$$
\begin{equation*}
G L Q_{n}(x)=x G L Q_{n-1}(x)+G L Q_{n-2}(x), \quad n \geq 2 \tag{2.6}
\end{equation*}
$$

with initial conditions

$$
\begin{equation*}
G L Q_{0}(x)=\left(x^{3}+4 x\right) k \tag{2.7}
\end{equation*}
$$

and

$$
\begin{equation*}
G L Q_{1}(x)=\left(x^{2}+4\right) i+\left(x^{4}+5 x^{2}+4\right) k \tag{2.8}
\end{equation*}
$$

It must be noted that if we set $x=1$ in eqs. (2.1) or (2.3), we obtain Gaussian Fibonacci quaternions (see, [3,5])

$$
\begin{equation*}
G F Q_{n}=G F Q_{n-1}+G F Q_{n-2}, \quad n \geq 2 \tag{2.9}
\end{equation*}
$$

with initial conditions

$$
\begin{aligned}
& G F Q_{0}=(i, 1,1+i, 2+i)=2 i+3 k \\
& G F Q_{1}=(1,1+i, 2+i, 3+2 i)=i+4 k
\end{aligned}
$$

and if we set $x=1$ in eqs. (2.2) or (2.6), we obtain Gaussian Lucas quaternions (see, [4])

$$
\begin{equation*}
G L Q_{n}=G L Q_{n-1}+G L Q_{n-2}, \quad n \geq 2 \tag{2.10}
\end{equation*}
$$

with initial conditions

$$
\begin{aligned}
& G L Q_{0}=(2-i, 1+2 i, 3+i, 4+3 i)=5 k \\
& G L Q_{1}=(1+2 i, 3+i, 4+3 i, 7+4 i)=5 i+10 k
\end{aligned}
$$

Let $\alpha(x)$ and $\beta(x)$ be the roots of the characteristic equation $t^{2}-x t-1=0$ on the recurrence relation (2.3) of Gaussian Fibonacci quaternion polynomials. Here, $\alpha(x)=\frac{x+\sqrt{x^{2}+4}}{2}$ and $\beta(x)=\frac{x-\sqrt{x^{2}+4}}{2}$. These roots satisfy the following rules:

$$
\begin{gather*}
\alpha(x)+\beta(x)=x, \quad \alpha(x)-\beta(x)=\sqrt{x^{2}+4}, \quad \alpha(x) \beta(x)=-1 \\
\frac{\alpha(x)}{\beta(x)}=-\alpha^{2}(x), \quad \frac{\beta(x)}{\alpha(x)}=-\beta^{2}(x) \tag{2.11}
\end{gather*}
$$

We now give the Binet's formulas for the Gaussian Fibonacci and Lucas quaternion polynomials in the following theorem.

Theorem 1. The Binet's formulas for the Gaussian Fibonacci and Lucas quaternion polynomials are given by

$$
\begin{equation*}
G F Q_{n}(x)=\frac{G F Q_{1}(x)\left(\alpha^{n}(x)-\beta^{n}(x)\right)+G F Q_{0}(x)\left(\alpha^{n-1}(x)-\beta^{n-1}(x)\right)}{\alpha(x)-\beta(x)} \tag{2.12}
\end{equation*}
$$

and

$$
\begin{equation*}
G L Q_{n}(x)=\frac{G L Q_{1}(x)\left(\alpha^{n}(x)-\beta^{n}(x)\right)+G L Q_{0}(x)\left(\alpha^{n-1}(x)-\beta^{n-1}(x)\right)}{\alpha(x)-\beta(x)} \tag{2.13}
\end{equation*}
$$

respectively.
Proof. From the general solution for the recurrence relation and using initial conditions the desired results can be obtained easily.

If we set $x=1$ in eq. (2.12), we obtain the Binet's formula for the Gaussian Fibonacci quaternions (see, [3,5]) as follow:

$$
G F Q_{n}=\frac{G F Q_{1}\left(\alpha^{n}-\beta^{n}\right)+G F Q_{0}\left(\alpha^{n-1}-\beta^{n-1}\right)}{\alpha-\beta}
$$

Moreover, if we set $x=1$ in eq. (2.13), we obtain the Binet's formula for the Gaussian Lucas quaternions (see, [4]) as follow:

$$
G L Q_{n}=\frac{G L Q_{1}\left(\alpha^{n}-\beta^{n}\right)+G L Q_{0}\left(\alpha^{n-1}-\beta^{n-1}\right)}{\alpha-\beta}
$$

Now, the ordinary generating functions, exponential generating functions and Poisson generating functions for the Gaussian Fibonacci quaternion polynomials and Gaussian Lucas quaternion polynomials are given in the following results, respectively.

Theorem 2. The ordinary generating functions for the Gaussian Fibonacci quaternion polynomials and Gaussian Lucas quaternion polynomials are given by

$$
\begin{align*}
f(t) & =\frac{G F Q_{0}(x)+\left(G F Q_{1}(x)-x G F Q_{0}(x)\right) t}{1-x t-t^{2}}  \tag{2.14}\\
& =\frac{2 i+(x-1) j+\left(x^{2}+2\right) k+(-x i+k) t}{1-x t-t^{2}}
\end{align*}
$$

and

$$
\begin{align*}
g(t) & =\frac{G L Q_{0}(x)+\left(G L Q_{1}(x)-x G L Q_{0}(x)\right) t}{1-x t-t^{2}}  \tag{2.15}\\
& =\frac{\left(x^{3}+4 x\right) k+\left(x^{2}+4\right)(i+k) t}{1-x t-t^{2}}
\end{align*}
$$

respectively.
Proof. Let $f(t)$ be the generating function for the Gaussian Fibonacci quaternion polynomials. Then we write

$$
\begin{equation*}
f(t)=\sum_{n=0}^{\infty} G F Q_{n}(x) t^{n}=G F Q_{0}(x)+G F Q_{1}(x) t+\ldots+G F Q_{n}(x) t^{n}+\ldots \tag{2.16}
\end{equation*}
$$

Multiplying the eq. (2.16) with $-x t$ and $-t^{2}$, respectively, we get

$$
\begin{equation*}
-x t f(t)=-x G F Q_{0}(x) t-x G F Q_{1}(x) t^{2}-\ldots-x G F Q_{n-1}(x) t^{n}-\ldots \tag{2.17}
\end{equation*}
$$

and

$$
\begin{equation*}
-t^{2} f(t)=-G F Q_{0}(x) t^{2}-G F Q_{1}(x) t^{3}-\ldots-G F Q_{n-2}(x) t^{n}-\ldots \tag{2.18}
\end{equation*}
$$

Then adding the eqs. (2.16), (2.17) and (2.18), we obtain

$$
\begin{aligned}
\left(1-x t-t^{2}\right) f(t)=G F & Q_{0}(x)+\left(G F Q_{1}(x)-x G F Q_{0}(x)\right) t \\
& +\sum_{n=2}^{\infty}\left(G F Q_{n}(x)-x G F Q_{n-1}(x)-G F Q_{n-2}(x)\right) t^{n}
\end{aligned}
$$

From the eq. (2.3), we get

$$
\left(1-x t-t^{2}\right) f(t)=G F Q_{0}(x)+\left(G F Q_{1}(x)-x G F Q_{0}(x)\right) t
$$

Using the eqs. (2.4) and (2.5), we have

$$
\left(1-x t-t^{2}\right) f(t)=2 i+(x-1) j+\left(x^{2}+2\right) k+(-x i+k) t
$$

which completes the proof of the first statement.
The second statement of the theorem can be proved in a similar manner.
If we set $x=1$ in eq. (2.14), we obtain the ordinary generating function for the Gaussian Fibonacci quaternions (see, $[3,5]$ ) as follow:

$$
f(t)=\frac{2 i+3 k+(k-i) t}{1-t-t^{2}}
$$

Furthermore, if we set $x=1$ in eq. (2.15), we obtain the ordinary generating function for the Gaussian Lucas quaternions (see, [4]) as follow:

$$
g(t)=\frac{5 k+5(i+k) t}{1-t-t^{2}}
$$

Theorem 3. The exponential generating functions for the Gaussian Fibonacci quaternion polynomials and Gaussian Lucas quaternion polynomials are given by

$$
F(t)=\frac{\left(G F Q_{1}(x)-\beta(x) G F Q_{0}(x)\right) e^{\alpha(x) t}-\left(G F Q_{1}(x)-\alpha(x) G F Q_{0}(x)\right) e^{\beta(x) t}}{\alpha(x)-\beta(x)}
$$

and

$$
G(t)=\frac{\left(G L Q_{1}(x)-\beta(x) G L Q_{0}(x)\right) e^{\alpha(x) t}-\left(G L Q_{1}(x)-\alpha(x) G L Q_{0}(x)\right) e^{\beta(x) t}}{\alpha(x)-\beta(x)},
$$

respectively.
Proof. Using the Binet's formula (2.12) of the Gaussian Fibonacci quaternion polynomials, we have

$$
\begin{aligned}
F(t)= & \sum_{n=0}^{\infty} G F Q_{n}(x) \frac{t^{n}}{n!} \\
= & \sum_{n=0}^{\infty} \frac{G F Q_{1}(x)\left(\alpha^{n}(x)-\beta^{n}(x)\right)}{\alpha(x)-\beta(x)} \frac{t^{n}}{n!}+\sum_{n=0}^{\infty} \frac{G F Q_{0}(x)\left(\alpha^{n-1}(x)-\beta^{n-1}(x)\right)}{\alpha(x)-\beta(x)} \frac{t^{n}}{n!} \\
= & \sum_{n=0}^{\infty} \frac{\left(\alpha(x) G F Q_{1}(x)+G F Q_{0}(x)\right)(\alpha(x) t)^{n}}{\alpha(x)(\alpha(x)-\beta(x)) n!} \\
& \quad-\sum_{n=0}^{\infty} \frac{\left(\beta(x) G F Q_{1}(x)+G F Q_{0}(x)\right)(\beta(x) t)^{n}}{\beta(x)(\alpha(x)-\beta(x)) n!} \\
= & \frac{\left(\alpha(x) G F Q_{1}(x)+G F Q_{0}(x)\right)}{\alpha(x)(\alpha(x)-\beta(x))} \sum_{n=0}^{\infty} \frac{(\alpha(x) t)^{n}}{n!} \\
& \quad-\frac{\left(\beta(x) G F Q_{1}(x)+G F Q_{0}(x)\right)}{\beta(x)(\alpha(x)-\beta(x))} \sum_{n=0}^{\infty} \frac{(\beta(x) t)^{n}}{n!}
\end{aligned}
$$

$$
\begin{aligned}
& =\frac{\left(\alpha(x) G F Q_{1}(x)+G F Q_{0}(x)\right)}{1+\alpha^{2}(x)} e^{\alpha(x) t}+\frac{\left(\beta(x) G F Q_{1}(x)+G F Q_{0}(x)\right)}{1+\beta^{2}(x)} e^{\beta(x) t} \\
& =\frac{\left(G F Q_{1}(x)-\beta(x) G F Q_{0}(x)\right) e^{\alpha(x) t}-\left(G F Q_{1}(x)-\alpha(x) G F Q_{0}(x)\right) e^{\beta(x) t}}{\alpha(x)-\beta(x)} .
\end{aligned}
$$

Thus, the proof of the first statement is completed. The second statement can be proved using the Binet's formula (2.13) of the Gaussian Lucas quaternion polynomials in a similar manner.

Theorem 4. The Poisson generating functions for the Gaussian Fibonacci quaternion polynomials and Gaussian Lucas quaternion polynomials are given by

$$
\mathcal{F}(t)=\frac{\left(G F Q_{1}(x)-\beta(x) G F Q_{0}(x)\right) e^{\alpha(x) t}-\left(G F Q_{1}(x)-\alpha(x) G F Q_{0}(x)\right) e^{\beta(x) t}}{e^{t}(\alpha(x)-\beta(x))},
$$

and

$$
\mathcal{G}(t)=\frac{\left(G L Q_{1}(x)-\beta(x) G L Q_{0}(x)\right) e^{\alpha(x) t}-\left(G L Q_{1}(x)-\alpha(x) G L Q_{0}(x)\right) e^{\beta(x) t}}{e^{t}(\alpha(x)-\beta(x))}
$$

respectively.
Proof. Since $\mathcal{F}(t)=e^{-t} F(t)$ and $\mathcal{G}(t)=e^{-t} G(t)$, the proof of the theorem is clear.

Theorem 5. For $n \geq 2$, we have

$$
\begin{equation*}
\sum_{k=1}^{n} G F Q_{k}(x)=\frac{1}{x}\left(G F Q_{n+1}(x)+G F Q_{n}(x)-G F Q_{1}(x)-G F Q_{0}(x)\right), \tag{2.19}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{k=1}^{n} G L Q_{k}(x)=\frac{1}{x}\left(G L Q_{n+1}(x)+G L Q_{n}(x)-G L Q_{1}(x)-G L Q_{0}(x)\right) . \tag{2.20}
\end{equation*}
$$

Proof. From eq. (1.1), we can write $G F Q_{n-1}(x)=\frac{1}{x}\left(G F Q_{n}(x)-G F Q_{n-2}(x)\right)$. By the telescoping sum, we get

$$
\begin{aligned}
\sum_{k=1}^{n} G F Q_{k}(x) & =\frac{1}{x} \sum_{k=2}^{n+1} G F Q_{k}(x)-\frac{1}{x} \sum_{k=0}^{n-1} G F Q_{k}(x) \\
& =\frac{1}{x}\left(G F Q_{n+1}(x)+G F Q_{n}(x)-G F Q_{1}(x)-G F Q_{0}(x)\right)
\end{aligned}
$$

which completes the proof of the eq. (2.19).
Since $G L Q_{n-1}(x)=\frac{1}{x}\left(G L Q_{n}(x)-G L Q_{n-2}(x)\right)$ from eq. (1.3)), eq. (2.20)) can be obtained in a similar manner.

If we set $x=1$ in eq. (2.20), we have [4]

$$
\sum_{k=0}^{n} G L Q_{k}=G L Q_{n+2}-5(i+2 k) .
$$

Corollary 1. For $n \geq 2$, we have

$$
\begin{aligned}
\sum_{k=1}^{n} G F Q_{2 k}(x) & =\frac{1}{x}\left(G F Q_{2 n+1}(x)-G F Q_{1}(x)\right), \\
\sum_{k=1}^{n} G F Q_{2 k-1}(x) & =\frac{1}{x}\left(G F Q_{2 n}(x)-G F Q_{0}(x)\right), \\
\sum_{k=1}^{n} G L Q_{2 k}(x) & =\frac{1}{x}\left(G L Q_{2 n+1}(x)-G L Q_{1}(x)\right), \\
\sum_{k=1}^{n} G L Q_{2 k-1}(x) & =\frac{1}{x}\left(G L Q_{2 n}(x)-G L Q_{0}(x)\right) .
\end{aligned}
$$

We now define the matrices $\mathbf{Q}, \mathbf{R}$ and $\mathbf{S}$ as follows:

$$
\mathbf{Q}=\left(\begin{array}{ll}
x & 1 \\
1 & 0
\end{array}\right), \quad \mathbf{R}=\left(\begin{array}{ll}
G F Q_{2}(x) & G F Q_{1}(x) \\
G F Q_{1}(x) & G F Q_{0}(x)
\end{array}\right), \quad \mathbf{S}=\left(\begin{array}{ll}
G L Q_{2}(x) & G L Q_{1}(x) \\
G L Q_{1}(x) & G L Q_{0}(x)
\end{array}\right) .
$$

Theorem 6. For $n \geq 1$, we have

$$
\mathbf{Q}^{\mathbf{n}} \mathbf{R}=\left(\begin{array}{cc}
G F Q_{n+2}(x) & G F Q_{n+1}(x) \\
G F Q_{n+1}(x) & G F Q_{n}(x)
\end{array}\right)
$$

and

$$
\mathbf{Q}^{\mathrm{n}} \mathbf{S}=\left(\begin{array}{cc}
G L Q_{n+2}(x) & G L Q_{n+1}(x) \\
G L Q_{n+1}(x) & G L Q_{n}(x)
\end{array}\right) .
$$

Proof. The results can be obtained easily using the mathematical induction on $n$.

Theorem 7 (Cassini's Identity). For $n \geq 1$, we have

$$
G F Q_{n+1}(x) G F Q_{n-1}(x)-G F Q_{n}^{2}(x)=(-1)^{n-1}\left(G F Q_{2}(x) G F Q_{0}(x)-G F Q_{1}^{2}(x)\right),
$$

and

$$
G L Q_{n+1}(x) G L Q_{n-1}(x)-G L Q_{n}^{2}(x)=(-1)^{n-1}\left(G L Q_{2}(x) G L Q_{0}(x)-G L Q_{1}^{2}(x)\right) .
$$

Proof. It is clear that $\operatorname{det} \mathbf{Q}^{\mathbf{n - 1}}=(-1)^{n-1}, \operatorname{det} \mathbf{R}=G F Q_{2}(x) G F Q_{0}(x)-G F Q_{1}^{2}(x)$ and $\operatorname{det} \mathbf{S}=G L Q_{2}(x) G L Q_{0}(x)-G L Q_{1}^{2}(x)$. Taking $\operatorname{det} \mathbf{Q}^{\mathbf{n - 1}} \mathbf{R}$ and $\operatorname{det} \mathbf{Q}^{\mathbf{n}-1} \mathbf{S}$, we can obtain the desired results, respectively.

## 3. Conclusion

In this paper, we study the Gaussian Fibonacci and Lucas quaternion polynomials. We give some results including recurrence relations, Binet's formulas, generating functions and summation formulas for these quaternion polynomials.

It must be noted that for $x=1$, the results for the Gaussian Fibonacci quaternion polynomials and Gaussian Lucas quaternion polynomials given in this study correspond to the Gaussian Fibonacci quaternions [3,5] and Gaussian Lucas quaternions [4], respectively.

## References

[1] G. Berzsenyi, "Gaussian Fibonacci numbers." Fib. Quart., vol. 15, no. 3, pp. 233-236, 1977.
[2] S. Halici, "On Fibonacci quaternions." Adv. Appl. Clifford Algebras, vol. 22, no. 2, pp. 321-327, 2012, doi: 10.1007/s00006-011-0317-1.
[3] S. Halici, "On complex Fibonacci quaternions." Adv. Appl. Clifford Algebras, vol. 23, no. 1, pp. 105-112, 2013, doi: 10.1007/s00006-012-0337-5.
[4] S. Halici, "On quaternion-Gaussian Lucas numbers." Math. Meth. Appl. Sci., vol. 44, no. 9-Special Issue, pp. 7601-7606, 2021, doi: 10.1002/mma. 6410.
[5] S. Halici and G. Cerda-Morales, "On quaternion-Gaussian Fibonacci numbers and their properties." An. St. Univ. Ovidius Constanta, vol. 29, no. 1, pp. 71-82, 2021, doi: 10.2478/auom-20210005.
[6] W. R. Hamilton, Lectures on quaternions. Dublin: Hodges and Smith, 1853.
[7] C. J. Harman, "Complex Fibonacci numbers." Fibonacci Quart., vol. 19, no. 1, pp. 82-86, 1981.
[8] A. F. Horadam, "Complex Fibonacci numbers and Fibonacci quaternions." American Math. Monthly, vol. 70, pp. 289-291, 1963.
[9] M. R. Iyer, " A note on Fibonacci quaternions." Fibonacci Quart., vol. 7, no. 3, pp. 225-229, 1969.
[10] J. H. Jordan, " Gaussian Fibonacci and Lucas numbers." Fibonacci Quart., vol. 3, no. 4, pp. 315-318, 1965.
[11] E. Ozkan and M. Tastan, "On Gauss Fibonacci polynomials, on Gauss Lucas polynomials and their applications." Communications in Algebra, vol. 48, no. 3, pp. 952-960, 2020, doi: 10.1080/00927872.2019.1670193.
[12] S. Pethe and A. F. Horadam, "Generalised Gaussian Fibonacci numbers." Bull. Austral. Math. Soc., vol. 33, no. 1, pp. 37-48, 1986, doi: 10.1017/S0004972700002847.
[13] E. Polatli, "A generalization of Fibonacci and Lucas quaternions." Adv. Appl. Clifford Algebras, vol. 26, no. 2, pp. 719-730, 2016, doi: 10.1007/s00006-015-0626-х.
[14] E. Polatli and S. Kesim, "On quaternions with generalized Fibonacci and Lucas number components." Adv. Differ. Equ., vol. 2015, no. 169, pp. 1-8, 2015, doi: 10.1186/s13662-015-0511-x.
[15] J. P. Ward, Quaternions and Cayley numbers: algebra and applications. London: Kluwer, 1997.

## Author's address

## Tülay Yağmur

Aksaray University, Mathematics Department, 68100 Aksaray, Turkey
E-mail address: tulayyagmurr@gmail.com; tulayyagmur@aksaray.edu.tr

